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GENERAL STUDIES AND GENERAL ABILITIES

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680412738 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 &0B) DETWE 58,2023 S’ 28008.
Options :

1. % 2000 D520

2. % SSrs

3. % 00,

4. ¢ FOSIS

Question Number : 1 Question Id : 630680412738 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Eastern Economic Forum, 2023 was held in
Options :

1. # Saint Petersburg

2. # Volgograd

3. ¥ Moscow

4. ¥ Vladivostok

Question Number : 2 Question Id : 630680412739 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

802 DB SIS US 8,720S 2023 000 DoAS Y T3S DZBed D07
Options :
. ¢ S8 35S
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2. % BAOHSO T LB
3. % 00 ey oves
4. % 520)0 Sr&H

Question Number : 2 Question Id : 630680412739 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the winner of the US Open 2023 Men's Singles title?
Options :

1. ¥ Novak Djokovic

2. % Daniil Medvedev

3. ® Carlos Alcaraz

4. % Casper Ruud

Question Number : 3 Question Id : 630680412740 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 &) ©0BTBOH NOD VR0 202365, G-2063° 578 D255 0 FOBOE?
Options :

1. % 35S DETE SFFESH

2. ¥ &9[DES CrAOHS

3. % QrFR0HS CrONS

4. % OF &9 @8 VE)

Question Number : 3 Question Id : 630680412740 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In September 2023, which of the following international organisations became a full member of the G-20?
Options :

1. ¥ World Economic Forum

2. ¥ African Union

3. # European Union

4. ® League of Arab States

about:blank 3/109
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Question Number : 4 Question Id : 630680412741 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 O 2022 STBS 325 O HO0HOD DE(D) DBIE(N)?
L B DOSTE3)) Feres 06 STBS 2TVNBS by BOIDTX.
IL 508 7S’ DRASTOE B DAV STBS 2TVDBS ¢5),80IDTS.

Options :

1. % 1 S°(edad

2. ¥ 11 S55°(¢Hodd

3. % 10005 I DOt

4. % 1520 S 11 5°Q 5°¢D

Question Number : 4 Question Id : 630680412741 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Nobel Prizes 20227
I. Ales Bialiatski was honoured with the Nobel Prize in Literature.
II. Svante Pédbo was honoured with the Nobel Prize in Physiology or Medicine.

Options :

1. % Only I

2.9 Only II

3. % BothIand II
4. * Neither I nor II

Question Number : 5 Question Id : 630680412742 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In April 2023, the 'Millets Experience Centre (MEC)' was inaugurated in
Options :

1. % Lucknow

2. % Varanasi

3. ¥ New Delhi

4. % Chennai
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Question Number : 5 Question Id : 630680412742 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QDS 20236, 'NBE Y DEYIDBCHS) VOLS (MEC) ' 8000308,
Options :

1. % ©of)

2. ¥ 5O

3. ¢ éj"g&@

4. % TI])

Question Number : 6 Question Id : 630680412743 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In March 2023, Asia’s largest 4-metre International Liquid Mirror Telescope was inaugurated at
Options :

1. # Pune

2. % Prayagraj

3. % Bengaluru

4. ¥ Devasthal

Question Number : 6 Question Id : 630680412743 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

35528 202365, @VOFS'R @B 4-0eS 05T 0D O8E MBS WOFD S [E0D00E08.
Options :

1. % 38

2. % (HaASrreS

3. % ZBorisrdd

4. ¢ BIXS

Question Number : 7 Question Id : 630680412744 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks :

In August 2023, Which Indian institute developed an ultrasound-assisted fermentation method to produce a safe sugar substitute called "Xylitol" from
bagasse, the residue left after crushing of sugarcane?

Options :

1. #* IIT Kanpur
2. % IIT Guwahati
3. # IIT Delhi

4. # IIT Roorkee

Question Number : 7 Question Id : 630680412744 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e300 202365, TEZ0D TG0 TS ST°5ed Ao TEZIDD) N0 "BOErS" 9 0B SRS ITYE (D&°5edr) OIrQ)
&¢5)8 TONTIE @9 P 0&H-SDVE B0 (ultrasound-assisted fermentation method) OB &) 23S0 HDOR @ES5HED TV0E?
Options :

1. % T 5°3°)0

2. ¥ T {T5ed

3. % [IT &)

4. % 11T 83°8),

Question Number : 8 Question Id : 630680412745 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2305558 2023°, R0BONS SONS SEHIBAS DY, DT ) DO ATISBaTeS FIrDE T Taren (D), AVGAS 100 LL §d0
DB 58 DXATPIATS ROPT ), DN OO (PG00, R0EIE3 SBZY & BT DEd TBOHDR0E?

Options :

1. % D23

2. % Jderer

3. % (BRSO

4. ¥ P> Qo AL

Question Number : 8 Question Id : 630680412745 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks :

In January 2023, The Indian Oil Corporation started the export of its special aviation fuel for small aircraft and unmanned aerial vehicles (drones),
AVGAS 100 LL. The first consignment was exported to which country?

Options :

1. % Fiji

2. # Venezuela
3. # Brazil

4. ¥ Papua New Guinea

Question Number : 9 Question Id : 630680412746 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5O 5 &RV ROTEY'E H020H0D DE() HBSE/IBID?

. %8 R035)) 2rES$TIOS' D0(S 88) aSVEwrsES HO (Berod eo(i5e>)5 (CRIDA) @590 TR0A.
IL 2143 © OB SGFSE0M 060 [0S D Beed es0¥, xS 51§ e85 DB HOHSTN0A.

Options :

TR NI

2. % 1 S7(ehodd

3. ¥ [ 0003 11 DO

4. % 150 B 11 5°Q 5260

Question Number : 9 Question Id : 630680412746 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the ‘Farm Distress Index’?
I. The index was developed by the Central Research Institute for Dryland Agriculture (CRIDA) in India.
II. The 21-question survey captures financial, economic, emotional health status of farmers in vulnerable areas.

Options :

1. #¥ Only I

2. % Only II

3.9 BothIand II
4. # Neither I nor II
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Question Number : 10 Question Id : 630680412747 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PM-DAKSH (Pradhan Mantri Dakshta Aur Kushalta Sampann Hitgrahi) Yojana is implemented in India by which Ministry?
Options :

1. % Ministry of Social Justice and Empowerment

2. % Ministry of Labour and Employment

3. % Ministry of Skill Development and Entrepreneurship

4. % Ministry of Micro, Small and Medium Enterprises

Question Number : 10 Question Id : 630680412747 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 500(E3¢h § B ¢° $T° PM-DAKSH (|DG7S s00(d 58 ¢ T8 Z032 HONS o6 (TPar) Toresd arSedZF0eS e9s0e0 To0dGo&?
Options :

1. ¢ 057238 T°50N0, PO SeS o00(e365 § TR

2. % 5288, GG DO|e3eh ¢ T

3. % T8 @SR, D§9T°0EEH SO eded § TP

4. % 3578 2, DY, 0B NG 5B DO DO eded § T

Question Number : 11 Question Id : 630680412748 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2309658 2023 T°¢38, 20N X $TELO HOBE 9 EMAS TENBIS DSE?
Options :

1. % 50050856 S 5°

2. ¥ (DSOS 5ol

3. % e85 S35 o|F°

4. % Dy 38

Question Number : 11 Question Id : 630680412748 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Who is the Chairperson of the National Commission for Protection of Child Rights, as of January 2023?
Options :
1. % Kushvinder Vohra
2. ¥ Priyank Kanoongo
3. % Arun Kumar Mishra
4. % Rekha Sharma

Question Number : 12 Question Id : 630680412749 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TASS OIS FEOE DRSS TBwEY 165 DAAS S B LPOIDB0E.
Options :

1. % 2015

2. % 2017

3.92019

4. % 2021

Question Number : 12 Question Id : 630680412749 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 1st edition of the National Youth Parliament Festival was organised in
Options :

1. % 2015

2. % 2017

3.9 2019

4. % 2021

Question Number : 13 Question Id : 630680412750 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As on 31st March 2021, there are Urban Community Health Centres functional in the urban areas of India as per Rural Health Statistics 2020-21.
Options :

1. 470
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2. % 975
3. % 1224
4, % 5481

Question Number : 13 Question Id : 630680412750 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(00 @85 HeTrosPen 2020-21 (DSPS0, 31 S8 2021 F°E38, 2rSSHTIOS D HEYED (oS e3)S E5075¢8 TS
0350 HATDT) OW.

Options :

1. ¥ 470

2. ® 975

3. % 1224

4. % 5481

Question Number : 14 Question Id : 630680412751 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In October 2022, a three-member commission was appointed to consider the possibility of granting SC status to new persons who have historically
belonged to the Scheduled Castes but have converted to religions other than Hinduism, Buddhism and Sikhism. The commission is headed by

Options :

1. # J.S. Verma

2. # R. M. Lodha

3. ¥ K.G. Balakrishnan
4. # S H. Kapadia

Question Number : 14 Question Id : 630680412751 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2§25 202265, TNEID0S AETIS HoererEd TOAS ), 0N S0P, 27°¢ BN VEVY TN SPEOE QS LHTES 8

23350 3B HIOZ SC 2T $O)0T ©955°3°Q) DBID0TITIE NS 2N ENNS ACHNOTTED. € EMAS
Sehgeh 206 &OO.

Options :
1. % J.S. 38
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2. % R M. S’
3. ¥ K.G. 2rO5)dx
4. % S H. SrSasy

Question Number : 15 Question Id : 630680412752 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 SO DO FERSIBED 330 ) (536377 S DE'E 000D DE(D) OB IE/IBIE?

L @& 200565 |HD0S e85 HONT (WHO) (PS0D05dB08.

1L DO TPEIBEI0 DB DT°§3GED FTZD HO5°3¢0 e €8 2XFTOH @SIITZ WIDOE 378 B )ereh S0, O3 )
SO, A BF°OE T°505 0.

Options :

1. % 1 35

2. ¥ 11 S55°(¢Hodd

3. % 10005 I O

4. % 1520 S 11 5°Q 5°¢D

Question Number : 15 Question Id : 630680412752 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the ‘Children’s Climate Change Risk Index’?

I. It was initiated by the World Health Organisation (WHO) in 2005.

II. It ranks countries based on children’s exposure to climate and environmental shocks as well as their vulnerability to those shocks, based on their access
to essential services.

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 16 Question Id : 630680412753 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3° &) T N0 237e30% (88 20238 SBHS0 RS SR8 BTsS TAHDB0E?
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Options :
1. ¥ 5Pogoe
2. ¥ oy
3. % ET°6)%
4. % 35¢

Question Number : 16 Question Id : 630680412753 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following states is scheduled to host National Games 2023?
Options :

1. * Haryana

2. ¥ Goa

3. # Karnataka

4. % Kerala

Question Number : 17 Question Id : 630680412754 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & (88 SPAS° TPeNTI0IES H022050 SO eaye) 507
Options :

1. % 2532000

2. % éaoé

3. % Jyredoh

4. ¢ &

Question Number : 17 Question Id : 630680412754 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hashika Ramachandra is associated with which of the following sports?
Options :

1. ¥ Badminton

2. % Kabaddi

about:blank 12/109
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3. # Shooting
4. ¥ Swimming

Question Number : 18 Question Id : 630680412755 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was honoured with the Tenzing Norgay National Adventure Award in the Land Adventure category for the year 2021?
Options :

1. ¥ Naina Dhakad

2. % Kunwar Bhawani Singh Samyal

3. # Shubham Dhananjay Vanmali

4. # Priyanka Mohite

Question Number : 18 Question Id : 630680412755 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

DS 2021 HOSBITE €505 T 0D DerioeS B0 0 SAIS T30t oTHE He9)B0TI2TS?
Options :

1. ¢ S H8&

2. % 80855 507 DOA HdrsS

3. % 250 502300 53O

4. % [ DOSTroE IrrS

Question Number : 19 Question Id : 630680412756 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘player - discipline’ is/are correctly matched in the context of the Arjuna Awards 20227
L. Shushila Devi - Kabaddi
II. Lakshya Sen - Badminton

Options :
1. % Only I
2. ¥ Only II
3. % BothIandII
4. # Neither I nor II
about:blank 13/109
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Question Number : 19 Question Id : 630680412756 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 AN 20O @B D), 2022 DSOS S5 ten — (8@ JerH0’ & 23e5(e0) DO 283¢5HSTIDBOE/F°0N?
L 036> T - 28

IL ©& 5 DS - 27530808

Options :

1. % 1 S°(edad

2. ¥ 11 S55°(¢H o

3. % 10005 I Ot

4. % 1520 S 11 5°Q 5°¢D

Question Number : 20 Question Id : 630680412757 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55’ 226305 (§chen 2022 HOSEI0S” DE(D) OB IE(D)?

L 0850 F)D) Z0(E°S 5°0 205508 InBboeS’ Hehseen rEO0H.
I1. $0380°| o) €965 55 20MPE) DEHTEN PQOVOE.

Options :

1. % 1 300(ehodd

2. % 1 S°(edad

3. % 100805 I Bochw

4. v 1520 S 11 5°Q) 5°CD

Question Number : 20 Question Id : 630680412757 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of National Games 20227
I. Services Sports Control Board won the highest number of overall medals.
II. Maharashtra won the highest number of Gold medals.

Options :
1. % Only I
2. % Only II
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3. % BothIandII
4. % Neither I nor 11

Question Number : 21 Question Id : 630680412758 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of Asian Games 20227
I. India won 70 medals across disciplines in the 18th Asian Games.
II. India won 16 gold medals in the 18th Asian Games.

Options :

1. % Only I

2. % Only II

3.% BothIand II
4. % Neither I nor II

Question Number : 21 Question Id : 630680412758 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55O @05 1850 2022 HOSEY0ES IE(R) DB IE(D)?
1 1885 @057 18 23S DD DeFreS 70 HHS FEODOA.
11 1855 &05P (8%’ 2SS 16 200MPE) DS OO0

Options :

1. % 1 S°(edad

2. % 1 S5°(eHodd

3. ¢ 10005 I BOcs

4. % 1520 S 11 5°Q 5°¢D

Question Number : 22 Question Id : 630680412759 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is produced from incomplete burning of fuels such as petrol and diesel.
Options :
1. % Hydrogen peroxide
2. ¥ Carbon monoxide

about:blank 15/109
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3. # Sulphur dioxide

4. ¥ Chlorofluorocarbon

Question Number : 22 Question Id : 630680412759 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'S 0850 GBS 503 ROST O DOIPEO™ SOIB0 0> €551 e9:)e00d.
Options :

1. % 3838 036

2. ¥ 3E)HQ Ir0r3 )&

3. % J0)0 A3 )&

4. % SEFEE)S

Question Number : 23 Question Id : 630680412760 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S B8 '@ yT B DLOD BASS €97’ 85 sB0E?
Options :

1. ¢ S rene Sods

2. % 385 Ay Hodg e

3. % 00X OO

4. % DHE) DS ¢5red

Question Number : 23 Question Id : 630680412760 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Amrita Devi Bishnoi National Award' is given for which of the following?
Options :

1. ¢ Wildlife Conservation

2. ® Rainwater Harvesting

3. ¥ Women Empowerment

4. % Disaster Management

about:blank 16/109
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Question Number : 24 Question Id : 630680412761 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sardar Sarovar Dam is built on the river
Options :

1. * Tapi

2. ¥ Mahanadi

3. ¥ Narmada

4. ® Kaveri

Question Number : 24 Question Id : 630680412761 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JTDITID D 38D I80392808.
Options :

1. % $ded

2. % 03

3.9 3885

4. % 38

Question Number : 25 Question Id : 630680412762 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NS), €39 A NG (A DO FPen) A3 pH D0 K357 .
Options :

1. %6

2.% 8

3. 10

4. % 12

Question Number : 25 Question Id : 630680412762 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 17/109
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The pH value of Milk of Magnesia is about
Options :
1.% 6
2.% 8
3.10
4. % 12

Question Number : 26 Question Id : 630680412763 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S D3 5eNN0 O D) B E58 TONTE SO S?
L. De3 S3BIDE @500 DT> TOS.

1L De3 3B QO 5765 Y& DT SOHR0Y).

1L De3 SISO & He5eS” S0

Options :

1. ¥ [00a 11

2. % 1.08a% M1

3. % 110805 I

4.4 1,11 O I

Question Number : 26 Question Id : 630680412763 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The term water pollution is used to cover which of the following effects?
I. The addition of undesirable substances to water bodies.

II. The removal of desirable substances from water bodies.

III. A change in temperature in the water body.

Options :

1. % Tand II

2. % Tand III

3. % Il and III
4.9 1, 11 and III

about:blank 18/109
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Question Number : 27 Question Id : 630680412764 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The reaction between an acid and a base is known as
Options :

1. # alkalisation

2. % neutralisation

3. # dehydration

4. % chlorination

Question Number : 27 Question Id : 630680412764 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€000 DB B0 038 88T DB @90Er.
Options :

1. % 52688

2. ¥ SEIVESED

3. % QOS50

4. % §89550

Question Number : 28 Question Id : 630680412765 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S DENS & S°H0 IO ST T3 VE?
Options :

1. # 230230

2. % 088

3. % 5536

4.+ 83&)

Question Number : 28 Question Id : 630680412765 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 19/109



10/19/23, 11:57 AM about:blank
Which of the following disease is caused by deficiency of vitamin D?
Options :
1. # Beriberi
2. # Scurvy
3. # Anaemia
4. ¥ Rickets

Question Number : 29 Question Id : 630680412766 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 e3¢5 90N TPersed SOEBED 1H5°B0 INDT® TP TOAIE DE?
Options :

1.v 25°§6035°

2. % 3Ooren

3. % 9

4. % @2y

Question Number : 29 Question Id : 630680412766 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Five Kingdom Classification, which of the following belongs to the Kingdom Monera?
Options :

1. ¥ Bacteria

2. # Fungi

3. % Algae

4. % Amoeba

Question Number : 30 Question Id : 630680412767 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ @9)SNOTR STV TOAIE E?
L. B0

I O HEN

about:blank 20/109



10/19/23, 11:57 AM about:blank
Options :
IR NG SN
2. ¢ 11 575
3. % 10805 11 Oy
4. % 150 B 11 5°Q 5260

Question Number : 30 Question Id : 630680412767 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following belongs to the phylum aschelminthes?
I. Tapeworm
II. Roundworm

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 31 Question Id : 630680412768 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘source — nutrient’ is/are correctly matched?
I. Potato - proteins
II. Banana - phosphorus

Options :

1. % Only I

2.9 Only II

3. % BothIand II
4. ®* Neither I nor II

Question Number : 31 Question Id : 630680412768 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 21/109



10/19/23, 11:57 AM about:blank

808 233O’ 'SATOO0 - FAF0' e DO 236533TIEIE/D DE()?
L 2000 - |°¢3D

I1. @83 — 25° §80(P ) BX)

Options :

1. % 1 S°(eda

2. ¥ 11 S55°(¢Hodd

3. % 100805 I Ot

4. % 152 S 11 5°Q 5°¢0

Question Number : 32 Question Id : 630680412769 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 BSOS PGB A - SO0 2E0° E0 DO HEFO0E DE(D)?
1. Z800 & - FAOHO P ERITE)E

1L DR 5 - 2OCH0 OB TP BE

Options :

IS NN

2. % 1 57(Hodd

3. % 1 0805 11 Bo&ky

4. % 520 S 11 5°Q 5S¢0

Question Number : 32 Question Id : 630680412769 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘common name - chemical name’ is/are correctly matched?
I. Baking soda - Sodium hydrogencarbonate
II. Bleaching powder - calcium sulphate hemihydrate

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. ® Neither I nor II

about:blank 22/109



10/19/23, 11:57 AM about:blank

Question Number : 33 Question Id : 630680412770 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Amino acids contain which of the following functional groups?
I. Amino (-NH,)

II. Carboxyl (-COOH)
Options :

1. % Only I

2. % Only II

3. BothIand II

4. # Neither I nor I

Question Number : 33 Question Id : 630680412770 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 e3¢5 IS €3537°eN &) (VA DedarsrFerdd EOR &0eroN?
1. 30’ (-NH,)

11. 5°0°)8 )® (-COOH)

Options :

R NG SN

2. % 1 S°(edad

3. ¢ 1 08A8W I BO&y

4. % 520 S 11 5°Q 5°¢0

Question Number : 34 Question Id : 630680412771 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TASS G20 BI)S) 55 ) (NDRF) 27853065 808 & s00|83¢h € 0 €389 585065 DATIF0EH?
Options :

1. ¢ TR0 5353507 00| e36b § T°D

2. % 5829 0365 § T°D

3. % 553P000, B HOT. 00e36b ¢ T

4. % 5053, @€ S0DOAN TPEISED 33750 $DO(EeH ¢ TP

about:blank 23/109



10/19/23, 11:57 AM about:blank

Question Number : 34 Question Id : 630680412771 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The National Disaster Response Force (NDRF) is functioning under which of the following Ministry in India?
Options :

1. % Ministry of Home Affairs

2. % Ministry of Defence

3. # Ministry of Agriculture & Farmers Welfare

4. ® Ministry of Environment, Forest and Climate Change

Question Number : 35 Question Id : 630680412772 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 TPI)YOE SR SN ST (PE0D0NDB0E.
Options :

1. % BOETATAS) Darifo

2. ¥ 2065 PEEIDE) T°Y

3. % ) ®0& B 028 Deyrio

4. % B |50 ©0ST°0%H $ed

Question Number : 35 Question Id : 630680412772 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cyclone Warning Dissemination System has been commissioned by the
Options :

1. # Department of Telecommunications

2. ¥ India Meteorological Department

3. % Department of Science and Technology

4. % International Committee of the Red Cross

Question Number : 36 Question Id : 630680412773 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 24/109



10/19/23, 11:57 AM about:blank
Correct Marks : 1 Wrong Marks :
808 ¢3S’ 885 S BAS D000 D8 &od?
Options :
1. % 388
2. % ¥50%
3. % S0P
4. ¢ 253508000

Question Number : 36 Question Id : 630680412773 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Richter scale is associated with which of the following natural disaster?
Options :

1. * Flood

2. # Drought

3. #® Cyclone

4. ¥ Earthquake

Question Number : 37 Question Id : 630680412774 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2305698 2023 °¢38, 2SS TF0S” N0 2T HDE |roHoS” FH0 SBADOH HEHH0E.
Options :

1.¥ 12

2. % 35

3. % 55

4. % 75

Question Number : 37 Question Id : 630680412774 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As of January 2023, In India, more than percent of the total geographical area is prone to floods.
Options :

about:blank 25/109



10/19/23, 11:57 AM about:blank
1.¥ 12
2. % 35
3.% 55
4. % 175

Question Number : 38 Question Id : 630680412775 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following parameters is/are used in hazard maps?
I. Event parameter
II. Site parameter

Options :

1. % Only I

2. % Only II

3.¥ BothIand II
4. ® Neither I nor II

Question Number : 38 Question Id : 630680412775 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 HTSOS’ (DT HEFeS” DA(D) EDTITA0TICIS0E(E0N)?
I. $530&0 HTNed
1L & Horaded

Options :

IR NN

2. % 1 5°(ehodd

3.9 10805 11 Bocsw

4. % 150 S 11 5°Q 5°¢0

Question Number : 39 Question Id : 630680412776 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23783 2023 7838, BASS &2rQ0 B)R) 0.) (NDRF) 2¢O AR DA 0N,
Options :

about:blank 26/109



10/19/23, 11:57 AM about:blank
1.%6
2.% 8
3.4 16
4. % 18

Question Number : 39 Question Id : 630680412776 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of July 2023, the National Disaster Response Force (NDRF) consist of battalions.
Options :

1. % 6

2.% 8

3.¥16

4, % 18

Question Number : 40 Question Id : 630680412777 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Environment (Protection) Act was passed in India in
Options :

1. #1972

2. % 1976

3. % 1982

4. ¥ 1986

Question Number : 40 Question Id : 630680412777 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rBSTF0S DTG (55.69) O S’ IR0 DR0E.
Options :

1. % 1972

2. % 1976

3. % 1982

about:blank 27/109



10/19/23, 11:57 AM about:blank
4.+ 1986

Question Number : 41 Question Id : 630680412778 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the natural aging of a lake by nutrient enrichment of its water.
Options :
1. * Biomagnification
2. % Eutrophication
3. #® Concentration

4. % Inflammation

Question Number : 41 Question Id : 630680412778 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L 9RO 28 D80S e AT T 500 Q) DTes SENNSO.
Options :

1. % 2233°3A) DIA

2. ¥ OOFETDIAS

3. % Jro(&ded

4. % 93) DA

Question Number : 42 Question Id : 630680412779 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2570 V0B FTSBEI0 22HO0 SEZY &) O PO &.E'S H0B0H  OHTIE) HEOMT ST,
Options :

1. % 0

2. ¥ 32N

3. % 300

4. % Qs

about:blank 28/109



10/19/23, 11:57 AM about:blank

Question Number : 42 Question Id : 630680412779 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The thickness of the ozone in a column of air from the ground to the top of the atmosphere is measured in terms of units.
Options :

1. * Doppler

2. % Dobson

3. # Keplar

4. % Newton

Question Number : 43 Question Id : 630680412780 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ (ASTTR 00 DE?
L 5°8)Q ¢6aASr3)&
L DS

Options :

1. % 1 S5°(edad

2. % 1 S57(ehodd

3. ¥ 1 0008 I DO

4. % 1520 S 11 5°Q 5°¢D

Question Number : 43 Question Id : 630680412780 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a greenhouse gas?
I. Carbon dioxide
II. Methane

Options :

1. ¥ OnlyI

2. % Only Il

3.4 BothIand II
4. # Neither I nor II

about:blank 29/109



10/19/23, 11:57 AM about:blank

Question Number : 44 Question Id : 630680412781 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the consequence of deforestation?
I. Enhanced carbon dioxide concentration in the atmosphere
II. Loss of biodiversity

Options :

1. % Only I

2. % Only II

3.4 BothIand II
4. # Neither I nor II

Question Number : 44 Question Id : 630680412781 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ @1 DET DS TINE), DB $ITTAE H00E0D) IE(R) DBIE()?
L e300 BT 58S $OSrE )6 mehes

IL 2853550 8763680

Options :

1. % 1 35

2. % 11 S5(ehodd

3. ¥ 1 00O 11 DO

4. % 520 S 11 5°Q 5°¢D

Question Number : 45 Question Id : 630680412782 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2B SHTIF 230D 91D D0 (1988) OO TS0 D DATR) DS TIOA.
Options :

1. # 33

2. % 37

3. % 63

4.9 67

about:blank 30/109



10/19/23, 11:57 AM about:blank

Question Number : 45 Question Id : 630680412782 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The National Forest Policy (1988) of India has recommended percent forest cover for the hills.
Options :

1. % 33

2. % 37

3. % 63

4.9 67

Question Number : 46 Question Id : 630680412783 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 F5sOS 2TBFENES @831238 BSr0& (BOD) HOKBE)0S” dE(D) SBIERD)?
L O39S D& 5 ppm 0T 850365 BOD ensddd EOA &0En0od.
I1. €9¢%50¢% EeNNHTS DB 17 ppm ST @90SHE0T) D805 BOD D33 EOR €0en0d.

Options :

1. % 1 S5

2. % 1 S557(ehodd

3. ¥ [ 0003 11 DO

4. % 1520 S 11 5°Q 5°¢D

Question Number : 46 Question Id : 630680412783 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of Biochemical Oxygen Demand (BOD)?
I. Clean water would have BOD value of less than 5 ppm.
II. Highly polluted water could have a BOD value of 17 ppm or more.

Options :

1. ¥ OnlyI

2. % Only Il

3.4 BothIand II
4. # Neither I nor II

about:blank 31/109



10/19/23, 11:57 AM about:blank

Question Number : 47 Question Id : 630680412784 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 FSEOES” AN (SPENNS AaPSed B0 AANO(5€9) THEO VAN D DBIE?
1. 98 19746 28BS’ NS S0
IL &AQ 19876 HX80D 32 aO5M STENNS SEE0MT TT° ).

Options :

1. % 1 S3°(edad

2. ¥ 11 S55°(eHodd

3. % 10005 I Ot

4. % 520 S 11 5°Q 5°¢D

Question Number : 47 Question Id : 630680412784 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of Air (Prevention and Control of Pollution) Act?
I. It came into force in India in 1974.
II. It was amended in 1987 to include noise as an air pollutant.

Options :

1. % Only I

2.+ Only Il

3. % BothIand II
4. # Neither I nor II

Question Number : 48 Question Id : 630680412785 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The northern plain of India is formed of
Options :

1. #* black soil

2. ¥ alluvial soil

3. % igneous rocks

4. ®# metamorphic rocks

about:blank 32/109



10/19/23, 11:57 AM about:blank

Question Number : 48 Question Id : 630680412785 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rBHT50 AINEY GBS NS0 & BHB0H.
Options :

1. % SOBHEA Jooen

2. v 2,0(¢ Jen

3. % ef) e

4. % 80,088 e

Question Number : 49 Question Id : 630680412786 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B8 BB erdesTsoS S’ [ E0DOHDEOL.
Options :

1. # 1963

2. % 1968

3.9 1973

4. % 1978

Question Number : 49 Question Id : 630680412786 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Project Tiger was launched in India in
Options :
1. # 1963
2. % 1968
3.9 1973
4. % 1978

Question Number : 50 Question Id : 630680412787 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 33/109



10/19/23, 11:57 AM about:blank
The largest inhabited riverine island in the world is located in the river.
Options :
1. #® Indus
2. ¥ Brahmaputra
3. ¥ Ganga

4. % Godavari

Question Number : 50 Question Id : 630680412787 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1950506 QaFren $e BN SABE HsH0  SBS &od.
Options :

1. % o

2.9 (20357205

3. % o

4. % B350

Question Number : 51 Question Id : 630680412788 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘river — tributary’ is/are correctly matched?
I. Godavari — Manjira
II. Narmada — Pranhita

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 51 Question Id : 630680412788 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢35 & 280E) 'S - ENIEEN DO 2BSHNSIDAIE/D E/D?
L P rd8 — 00288

about:blank 34/109



10/19/23, 11:57 AM about:blank
IL SBICS - (aredared
Options :
(T NN
2. % 1 S5(ehodd
3. % 10805 11 Boky
4. % 150 S 11 5°Q 5°¢0

Question Number : 52 Question Id : 630680412789 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 >SS SOBHG FOZ H0D0E0D DE(D) OB IE/IBIN?
L. 88 SO BHO [ 9oerd.
IL D HE0 SOTHR F© DI IA.

Options :

1. % 1 S°(edad

2. % 1 S557(ehodd

3. ¥ [ 0005 I DO

4. % 1520 S 11 5°Q 5°¢D

Question Number : 52 Question Id : 630680412789 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding black soil?
I. These soils are known as regur soils.
II. Black soil is ideal for growing cotton.

Options :

1. % Only I

2. % Only Il

3.4 BothIand II
4. # Neither I nor II

Question Number : 53 Question Id : 630680412790 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
about:blank 35/109



10/19/23, 11:57 AM about:blank

1808 SPXITOAT® FPHTOS” DE 8000 I DS &0OE?
. o> B

II. 0SB0

Options :

1. % 1 S°(edad

2. ¥ 11 S55°(¢Hodd

3. % 10805 11 Boky

4. % 152 Sor 1157 5°¢0

Question Number : 53 Question Id : 630680412790 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following peaks of the Himalayas is higher than 8000 meters?
I. Nanda Devi
II. Kanchenjunga

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 54 Question Id : 630680412791 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 2rESTFOS Q) FEESISETIE D000 DB IA(D) DE(D)?
L 08 955750 0 ANES 400 cm S0T DBV 0 D OO DD TS’ 10 0.80 0T 550y S G0EN0H.
1. @90C537S 0805 &2 QYOS DN HBON T°|ed GEHiSOS” DXT(S0 B GO,

Options :

1. % 1 S°(edadd

2. % 1 S5

3. ¢ 10005 I BOcs

4. % 152 S 11 5°Q 570

about:blank 36/109



10/19/23, 11:57 AM about:blank

Question Number : 54 Question Id : 630680412791 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the climate of India?
I. The annual precipitation varies from over 400 cm in Meghalaya to less than 10 cm in Ladakh and western Rajasthan.
II. There is hardly any difference in day and night temperatures in the Andaman and Nicobar islands.

Options :

1. % Only I

2. % Only II

3.9 BothIand II
4. # Neither I nor II

Question Number : 55 Question Id : 630680412792 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 'BASS By, - T°(N0' 0O IA(R) HOT HBFer0n?
L. 5°8)& [ASS IOy, - @0

I1. 25000 JASS D), - T°BF°S

Options :

1. % 1 S5

2. % 11 S5(ehodd

3. % 10005 I Ot

4. ¥ 1520 S 11 5°Q 5°¢D

Question Number : 55 Question Id : 630680412792 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘national park — state’ is/are correctly matched?
I. Corbett National Park - Assam
II. Bandhavgarh National Park - Rajasthan

Options :

1. * Only I

2. % Only II

3. % BothIand II

about:blank 37/109



10/19/23, 11:57 AM about:blank

4. % Neither I nor 11

Question Number : 56 Question Id : 630680412793 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 e3¢5 12253 h S 555050 H00E0D HBIE(D) VE(D)?
L 2057235 A SrSOTF D HDBN)E 83750 ) ¢3S’ &I N0E.
IL (225372 SAQ 9IS (DBTS S'ored e DT ED.

Options :

1. ¥ 1 575

2. % 1 375

3. % 100050 I BOchw

4. % 1520 S 11 5°Q 5°¢D

Question Number : 56 Question Id : 630680412793 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following statements is/are correct regarding the Brahmaputra river system?
I. The Brahmaputra rises in Tibet east of Mansarowar lake.
II. The Brahmaputra is called the Lohit in Arunachal Pradesh.

Options :

1.4 Only I

2. % Only II

3. % BothIand II
4. #* Neither I nor II

Question Number : 57 Question Id : 630680412794 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Part of the Indian Constitution is related with the Fundamental duties?
Options :

1. # PartII

2. % Part III

3. % PartIV

about:blank 38/109



10/19/23, 11:57 AM about:blank
4. % Part IVA

Question Number : 57 Question Id : 630680412794 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PAR OIS @wgoﬁocﬁs&) 2 D23H0 (PENE DB H0VOEODSE?
Options :

1. % Deyrio 11

2. % Deyrio I

3. % Jarto IV

4. v Q230 IVA

Question Number : 58 Question Id : 630680412795 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2S¢ Toe35050S°Q 80 & SOES 'FPEISE S DN FOSHN0E DS ¢ B2 N'E0 D0DO0HODSE?
Options :

1. ® 855 5

2. 08 7

3. % 90559

4. % 085 11

Question Number : 58 Question Id : 630680412795 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution is related with 'Rights of citizenship of certain migrants to Pakistan'?
Options :

1. # Article 5

2.9 Article 7

3. % Article 9

4. % Article 11

about:blank 39/109
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Question Number : 59 Question Id : 630680412796 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2S¢ T2 0P8 NoV0HOD, 808 T3S & ‘@35S — (T3S’ 2308 BT HOFO0E?
1. 388 21 - 2250 S0BASW 358056d R 523y B3Ey BE €

1. @85S 22 - JT°OE H000DS BE.E0 S020H0D B

Options :

1. ¥ 1 S°(edad

2. % 1 S57(ehodd

3. % 1 00AW I 3oLy

4. % 150 B 11 5°Q 5260

Question Number : 59 Question Id : 630680412796 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Article — provision’ is/are correctly matched as the context of the Indian Constitution?
I. Article 21 — Protection of life and personal liberty
II. Article 22 — Protection in respect of conviction for offences

Options :

1. ¥ Only I

2. % Only Il

3. % BothIandII
4. # Neither I nor II

Question Number : 60 Question Id : 630680412797 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ 23S eh Trers00 AN DE(R) DB IE/IBI?
L 27865 07250050 R e30ES 40 ‘DO DEETD TS J0HSTHD 8 H0DO0BOIIE.
IL 235 ¢ T°23°505065°Q &305S 50 'DNETE3S 00G 00N DSBS H022050 AR God.

Options :

1. % 1 S5°(edad

2. ¥ 11 S55°(¢H o

3. % 10005 I Ot

about:blank 40/109
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4. % 1520 So° 11 5°Q 5°CD

Question Number : 60 Question Id : 630680412797 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Indian Constitution?
L. Article 40 of the Indian Constitution is related with “‘uniform civil code for the citizens’.
II. Article 50 of the Indian Constitution is related with ‘separation of judiciary from executive’.

Options :

1. % Only I

2.+ Only Il

3. % BothIandII
4. # Neither I nor II

Question Number : 61 Question Id : 630680412798 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 T°|arOES’ et 2023 38, 2rBHTIOS R & 5325 TN EOA &) T°LR0 VE?
Options :

1. ¥ 023N

2. ¥ SO0

3. % 2,Qar

4. % 5033

Question Number : 61 Question Id : 630680412798 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of August 2023, which of the following states in India has a bicameral legislature?
Options :

1. # Rajasthan

2. ¥ Telangana

3. % QOdisha

4. % Madhya Pradesh

about:blank 41/109
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Question Number : 62 Question Id : 630680412799 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

208 558 T0E), (PPOE 328000 HDBBE 0V 2778¢h OB §5). D°SONT°N0 A, BESXD 23°8 TANNN)?
Options :

1. ¥ 0

2. % s

3. % J

4. % QAN

Question Number : 62 Question Id : 630680412799 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many writs can be issued by the Supreme Court of India to protect the Fundamental Rights of the individual?
Options :

1. ¥ Five

2. % Six

3. % Seven

4. % Eight

Question Number : 63 Question Id : 630680412800 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2T0VBS SdreS > (BSP) S T DOIDB0A.
Options :

1. ¥ 1984

2. % 1986

3. % 1988

4. % 1990

Question Number : 63 Question Id : 630680412800 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 42/109
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Correct Marks : 1 Wrong Marks : 0

The Bahujan Samaj Party (BSP) was formed in .

Options :

1. ¥ 1984

2. % 1986

3. % 1988

4. % 1990

Question Number : 64 Question Id : 630680412801 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

2335 T°2350H0ES & QES, AT BB) B 8TFR) DN 0T WATSE0 MDOTLZ GOENOS D) 08H?
Options :

1. % 0% 134

2. v 08D 137

3. % 08 144

4. % 08D 147

Question Number : 64 Question Id : 630680412801 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Article of the Indian Constitution mentions that the Supreme Court shall have power to review any judgment pronounced or order made by it?
Options :

1. # Article 134

2. ¥ Article 137

3. % Article 144

4. % Article 147

Question Number : 65 Question Id : 630680412802 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following subjects is included in the Concurrent list in the Indian Constitution?
Options :

about:blank 43/109
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1. * Banking
2. ® Prison
3. % Agriculture
4. % Education

Question Number : 65 Question Id : 630680412802 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 @0 D& 23S T°es0H0T R &0 DTS B )DB0E?
Options :

1. ¥ 2y»so80h

2. % Zewn

3. % 58P0 0

4. ¢ DA5§

Question Number : 66 Question Id : 630680412803 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘regional party - concerned state’ is/are correctly matched?

I. People's Democratic Alliance - Assam

II. Maharashtrawadi Gomantak Party - Goa
Options :

1. ¥ OnlyI

2. Only II

3. % BothIandII

4. # Neither I nor II

Question Number : 66 Question Id : 630680412803 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 |0 8 - 50208 TN BSOS DO HOFODOE IE(D)?
L NS ) BIrEESE @00aHS) - )0
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IL S0P & FedosE 38 - o
Options :
1. % 1 35
2. ¥ 11 S55°(¢H o
3. % 10805 11 Boky
4. % 1520 S 11 5°Q 5°¢0

Question Number : 67 Question Id : 630680412804 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23°5¢5 T°23°S00 (DTG0, T RNDB IOTES 5828 92050 ) FO0ETE, RO HED $HOErED-
L. PORD0LW 250N DZDH DY HgHgew

IL O°5F® BB R¢3S )S )50 LIS dHhsen

II1. T°(aF® 3% DZIOZD D) B DZHFEN

Options :

1. % 1 00aAW II

2. ¥ 1 00A8W 111

3. % 11 006a%W 111

4, % 1,11 OO I

Question Number : 67 Question Id : 630680412804 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Indian Constitution, the President shall be elected by the members of an electoral college consisting of:
I. The elected members of both Houses of Parliament

II. The elected members of the Legislative Councils of the States

II1. The elected members of the Legislative Assemblies of the States

Options :

1. %¥ Tand II

2. % T and III

3. #® Il and III
4. % 1,11 and 111
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Question Number : 68 Question Id : 630680412805 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rSSHTF0S D FE D205 ¢ HoDOZY &S’ Te3s08 T O J0DDGE0E.
Options :

1. # 1983

2. % 1986

3.9 1993

4. % 1996

Question Number : 68 Question Id : 630680412805 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

constitutional status was accorded to local government institutions in India in
Options :

1. % 1983

2. % 1986

3. %1993

4. % 1996

Question Number : 69 Question Id : 630680412806 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bo(5 B0 TR (DEHT SO 0 TS (H2HE I8 OTTR), OO TR (DBOHD  e00erS.
Options :

1. % AOWBAS

2. % BB AS (D8TYEeN)

3. % A3QVEAS

4. ¢ D30\ HESe

Question Number : 69 Question Id : 630680412806 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 46/109



10/19/23, 11:57 AM about:blank
When power is taken away from Central and State governments and given to local government, it is called
Options :
1. # delimitation
2. % demarcation
3. # demonetisation

4. % decentralisation

Question Number : 70 Question Id : 630680412807 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2335 T2 500 & BQES (IPedd DOTFOANSBO HOR'E D0DOBOIIE.
Options :

1. %8 0% 38

2. v 08D 40

3. % 085S 42

4. % 0% 44

Question Number : 70 Question Id : 630680412807 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which article of the Indian Constitution is related with 'organisation of village panchayats'.
Options :

1. # Article 38

2. % Article 40

3. % Article 42

4. % Article 44

Question Number : 71 Question Id : 630680412808 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 55O DA(D) 199265 23S e PO TDOEN SRFEODS T°2Fs0H DB DOSBI0S HBIE(RD)?

L. 7405 0389 D& F°AF (20&° £OE0 D000 ADORNOD EFFODODOE.
I1. 758 DB (TPa0€d P (580& §80 HODO0HODIA.
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Options :
IS NN
2. % 1 5(hodd
3. % 10805 11 Oy
4. % 150 B 11 5°Q 5260

Question Number : 71 Question Id : 630680412808 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the constitutional amendments passed by the Indian Parliament in 19927
I. The 74th amendment made the provisions relating to urban local government.
II. The 75th Amendment is about rural local governments.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 72 Question Id : 630680412809 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S eGeh TPe0N0 (HTB0 TBOTI HOTTONES T°25 9590E0 D00E0D DBSE(D) DE(D)?
L D00 078 DO TB0E), SOT°CE) 0TIEN (BT BEM ) e om.

IL Q) HOTTON DO OGO 28 505 PN ST FZ) TEFONOTIDFON.

Options :

1. % T35

2. % 1 S5(ehodd

3.9 1 080 11 BOKy

4. % 520 S 11 5°Q 5°¢D

Question Number : 72 Question Id : 630680412809 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 48/109
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Which of the following statements is/are correct in regarding the three tier Panchayati Raj structure as per the Indian Constitution?
L. All the three levels of Panchayati Raj institutions are elected directly by the people.
II. One third of the positions in all panchayat institutions are reserved for women.

Options :

1. % Only I

2. % Only Il

3.9 BothIand II
4. # Neither I nor II

Question Number : 73 Question Id : 630680412810 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S, 0553 @020 FreI AO0TIDE0E.
Options :
1. #* 1791
2. % 1798
3. ¥ 1801
4. % 1808

Question Number : 73 Question Id : 630680412810 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In , a subsidiary alliance was imposed on Awadh.
Options :

1. #* 1791

2. % 1798

3. ¥ 1801

4. % 1808

Question Number : 74 Question Id : 630680412811 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2% 05 DORTY B0 (D% 203550 BOTTPS 538318 23385 582
Options :
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1. % *BS Q0N
2. ¥ 2P0 5°0) 57O
3. % oo 3
4. % 830 IBD

Question Number : 74 Question Id : 630680412811 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the Governor General of Bengal when the Permanent Settlement was introduced?
Options :

1. % Warren Hastings

2. % Charles Cornwallis

3. % Robert Clive

4. % Richard Wellesley

Question Number : 75 Question Id : 630680412812 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Paramhans Mandali was founded in to work for the abolition of caste.
Options :

1. # 1835

2. ¥ 1840

3. % 1845

4. % 1850

Question Number : 75 Question Id : 630680412812 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

500 QBTS00 Egad T VONZ DBNTFOD 00 S FDOVDR0AH.
Options :

1. # 1835

2. ¥ 1840

3. % 1845

about:blank 50/109
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4. # 1850

Question Number : 76 Question Id : 630680412813 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who addressed the Congress as President in 18877
Options :

1. ¥ Pherozeshah Mehta

2. # Dadabhai Naoroji

3. # Romesh Chandra Dutt

4. ¥ Badruddin Tyabji

Question Number : 76 Question Id : 630680412813 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

188765 SO0 (RIRTOET (DH0A0DDTE) JeISd?
Options :

1. # DTS > e

2. % orrerod I8

3. % 5D 301D SS

4. ¥ OS &5

Question Number : 77 Question Id : 630680412814 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ (D3R POSE SsBBEOMT 237G eh 233 TIFCIS00 BN NS, HD0EI0, 2T HEeg (1358 HO0EOD HBIE(D)
DE()?

L 2»TOS’ Besd &¢d5s00 191865 238008.

1. &8 €6¢3503°Q8 H22rAD HTIS TONES SO D0 .

Options :

1. % 1 S°(edad

2. ¥ 11 S5

3. % 10805 11 Bo&ky
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4. % 1520 So° 11 5°Q 5°CD

Question Number : 77 Question Id : 630680412814 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian national movement against the British rule, which of the following statements is/are correct regarding the Bardoli Satyagraha?
I. The peasant movement in Bardoli took place in 1918.
II. This movement was led by Vallabhbhai Patel.

Options :

1. % Only I

2.+ Only Il

3. % BothIandII
4. # Neither I nor II

Question Number : 78 Question Id : 630680412815 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 525’ 1857 SBMH27EN DB§XTmred OIS0, DA(D) DB IE/IBID?

L. $308057 500 9OTTeN (D3N (B°S50 28O ToHaB ow.

I 275305 POF0EN 63 T2 BB (EHOS D T8 TENOE OO TOHTAE DSBS DTK.
Options :

1. % 1 S3°(edad

2. % 1 S57(ehodd

3. ¥ [ 0003 I DO

4. % 520 S 11 5°Q 5°¢D

Question Number : 78 Question Id : 630680412815 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the consequences of the rebellion of 1857, which of the following statements is/are correct?
I. The powers of the East India Company were transferred to the British Crown.
II. The Indian rulers were allowed to pass on their kingdoms to their heirs, including adopted sons.

Options :
1. ¥ Only I

about:blank 52/109
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2. % Only II
3. % Both I and II
4. ® Neither I nor II

Question Number : 79 Question Id : 630680412816 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTFOS' 1985 T A28 D0NY S €e55Te> DSOS, ‘Ewared — TS 0S50’ HODOO0D) 808 BesereS’
DA DB HBFDOE?

L. 800 -2,8050LS &S, 0ONE - 1875

IL Der) S5, @a0ee5 )0 - 1878

Options :

IS NI

2. % 1 S557(ehodd

3. % 10005 I Ot

4. % 520 S 11 5°Q 5°¢D

Question Number : 79 Question Id : 630680412816 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the 19th century social reform movements in India, which of the following pairs of ‘college — year of establishment’ is/are correctly
matched?

I. Anglo-Oriental College, Aligarh — 1875

II. Khalsa College, Amritsar — 1878

Options :

1.4 Only I

2. % Only II

3. % BothIand II
4. #* Neither I nor II

Question Number : 80 Question Id : 630680412817 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2rEST50S DT D HONO S’ AT°HEN TOHDEOE.
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Options :
1. % 1948
2.9 1950
3. % 1952
4. % 1954

Question Number : 80 Question Id : 630680412817 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Planning Commission was set up in India in
Options :

1. % 1948

2. ¥ 1950

3. % 1952

4, % 1954

Question Number : 81 Question Id : 630680412818 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 38’ erSEHTI0S PO DS BrHBOYJT DS HONEF0TIDTE?
Options :

1. % M. S. 500" P

2. % 38 %8098

3. % P.C. DIFOSDR

4. ® 2335530, J5V°

Question Number : 81 Question Id : 630680412818 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who of the following is regarded as the architect of Green Revolution in India?
Options :

1. ¥ M. S. Swaminathan

2. % Verghese Kurien

about:blank 54/109
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3. % P. C. Mahalanobis
4. % Jawaharlal Nehru

Question Number : 82 Question Id : 630680412819 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P0IBT BE (B BIODOE (B ITDP) 808 (DI 0LDR0E.
Options :

1. % °9N H0IRE (DD

2. ¥ 855 DO (DeTrDE

3. % 3855 D0NBIS (DT DE

4. % D55 HOISY (DT DY

Question Number : 82 Question Id : 630680412819 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Integrated Tribal Development Project (ITDP) was introduced under the
Options :

1. # Fourth Five Year Plan

2. ¥ Fifth Five Year Plan

3. % Sixth Year Plan

4. % Seventh Five Year Plan

Question Number : 83 Question Id : 630680412820 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5O 2SSO HOTISY (DEFPVED OF LB 000D IE() DB IE(D)?
L D0TIXES (HDETFDED ©F5e0: 9B, e3¢0AEEBE, 5020 OO ArdTe8S T°SONO.
IL @)¢3 S350, @) HOTINS (DETDEEN S8 T8 0€38 DadTS (TSN LS RTT°)ow.

Options :

1. ¥ 1 3°(eHad

2. % 1 S55°(eHodd

3. % 10805 11 Boky
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4. % 520 So° 11 5°Q 5°CD

Question Number : 83 Question Id : 630680412820 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in regarding the goals of the five year plans in India?
I. The goals of the five year plans are: growth, modernisation, self-reliance and equity.
II. Till date, all the five year plans have given equal importance to all these goals.

Options :

1. ¥ Only I

2. % Only Il

3. % BothIandII
4. # Neither I nor II

Question Number : 84 Question Id : 630680412821 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the types of economic systems?
I. In a capitalist society the goods produced are distributed among people on the basis of what people need.
II. In a socialist society the government decides what goods are to be produced in accordance with the needs of society.

Options :

1. % Only I

2.4 Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 84 Question Id : 630680412821 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55O 6308 55550 B5e0E H0DO0HOD D) DBSE/ITID?

L DDA HSrB30S €5eh 183 TONDAS 9 MNHEN (DBOZD 9S5OSR °¢3 eGSO (2B 0§ DO T T ON.
IL FAOY D57806S 65528 €9850T O eDMEIOMT ) SeNYEN reh )& DA’ (325065 50 ATANNOA.

Options :

1. % 1 35
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2. % 11 S5
3. % 10005 I Ot
4. % 1520 S 11 5°Q 5°¢0

Question Number : 85 Question Id : 630680412822 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8238 § 27508 €39 Q0O I 2375080 SN KN A e HOtHT OIS 8L F°do .
Options :

1. ¢ 350 e 5 DA

2. % HBDB DAY

3. % O8&eS dWeren AEB50

4. % A3 AN

Question Number : 85 Question Id : 630680412822 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Percentage of deposits which a bank must keep as cash reserves with the Reserve Bank of India is
Options :

1. ¥ Cash Reserve Ratio

2. % Leverage ratio

3. # Liquidity adjustment facility

4. # Deposit ratio

Question Number : 86 Question Id : 630680412823 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55 DES 2e3T3reh )8 (NNP)E 50250800 IE(D) SOBSE(D)?
L 2 B3 NOA 53 A8V 52857 &Srasrd) EOR GOLNOd.
IL 5EHGS T Fered D0G B300DS0E.

Options :
1. % 1 S°(edad
2. % 1 S5

about:blank 57/109
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3.9 108 I BO&s®
4. % 1520 S 11 5°Q 5°C0

Question Number : 86 Question Id : 630680412823 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding Net National Product (NNP)?
L. It includes net factor income from abroad.
II. Depreciation is deducted from its measurement.

Options :

1. % Only I

2. % Only II

3. Both I and II
4. % Neither I nor I

Question Number : 87 Question Id : 630680412824 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

208 SS3E0) SN I BSOS SEBDES’ 5557650 23B5NSI0E, &8 53°¢50.) IS
Options :

1. % 50205 509 9SS S0 )

2. % DATBHED |BTErI55S’ S5°50)

3. % DATHTHO e300 SFE)

4. ¥ SN BB SPE)

Question Number : 87 Question Id : 630680412824 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A shift in demand curve takes place when there is a change in some factor EXCEPT
Options :

1. ¥ Change in the price of the related goods

2. # Change in the consumer’s preference

3. # Change in the consumer’s income

about:blank 58/109
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4. % Change in the price of the commodity

Question Number : 88 Question Id : 630680412825 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TASS 33D 0578¢3 &35 R0AOS> (NHAI) S’ @500 TOHDE0E.
Options :

1. % 1985

2. % 1989

3.9 1995

4. % 1999

Question Number : 88 Question Id : 630680412825 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The National Highways Authority of India (NHAI) was operationalised in
Options :

1. # 1985

2. % 1989

3.9 1995

4. % 1999

Question Number : 89 Question Id : 630680412826 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1DD0TI 2375050 T £T° FENSES (0TS @DSYR AJOES 1H5°B0, 201965’ 2SS TS HONE STON0 D05 T8 USS
NG
Options :
1. % 2700
2. % 4700
3. 6700
4. % 8700

about:blank 59/109
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Question Number : 89 Question Id : 630680412826 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India's capita income in 2019 was just US$ per annum, as per World Development Reports, brought out by the World Bank.
Options :

1. ¥ 2700

2. % 4700

3. % 6700

4. % 8700

Question Number : 90 Question Id : 630680412827 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55 2017-201865° DB(Fe0e FEM arSHTF0S’ TS 38 D258 TR D0SBI0S AA(R) DBSE(R)?
1. 28088 S060 Tt 44 750 O (FPNE¥8E8 GO §D o d.

IL 31 350 00 5285060 Ve B0KoeS &) &.

Options :

1. % 1 S5

2. ¥ 11 S557(¢H o

3. % 10005 I Ot

4. % 1520 S 11 5°Q 5°¢D

Question Number : 90 Question Id : 630680412827 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of distribution of workforce in India by industry, 2017-2018?
I. Secondary sector provides employment to about 44 percent of workforce.
II. About 31 percent of workers are in the service sector.

Options :

1. ¥ OnlyI

2.+ Only Il

3. % BothIand II
4. # Neither I nor II

about:blank 60/109
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Question Number : 91 Question Id : 630680412828 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers flows in Telangana?
Options :

1. ¥ Narmada

2. % Tapi

3. # Gandak

4. ¥ Tungabhadra

Question Number : 91 Question Id : 630680412828 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S BOOMTES’ (DITFOT SE DE?
Options :

1% 3828

2. % &Hed

3. % J0csS

4. ¥ 08258

Question Number : 92 Question Id : 630680412829 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total Geographical area of the Telangana state is Square Kilometers.
Options :

1. % 102077

2.9 112077

3. % 121077

4. % 132077

Question Number : 92 Question Id : 630680412829 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 61/109
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BOMED TR0 TBNE), IS0 2THYE DAT0 25555 8BS er.
Options :

1. # 102077
2.9 112077
3. % 121077
4. % 132077

Question Number : 93 Question Id : 630680412830 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Total forest area in Telangana accounts for about percent of the total geographical area of the state.
Options :

1. % 18

2.9 24

3. % 30

4. % 36

Question Number : 93 Question Id : 630680412830 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMES' TS0 @D DVTO TR NGB0 T HOE IQFoS TSSO SOO.
Options :

1. # 18

2.9 24

3. % 30

4. % 36

Question Number : 94 Question Id : 630680412831 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘wildlife sanctuary — district’ is/are correctly matched?
I. Eturunagaram Wild Life Sanctuary - Rangareddy
II. Pakhal Wild Life Sanctuary - Mahbubabad

Options :

about:blank 62/109
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1. % Only I
2.4 Only II
3. % BothIand II
4. # Neither I nor II

Question Number : 94 Question Id : 630680412831 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 'SS5TENS €92505TBEISO - 22T E) DOVOHODS BOLIOES” DE(D) DO 235NSIDB0E/ T°OW?
L. DEPEIRTTE0 SI§ale® e923OSTEES0 - SOMTPBE

IL °5°) D TPENS €92505PEEISO - QNI

Options :

1. % 1 35

I VNV T

3. % 10003 I O

4. % 1520 S 11 5°Q 5°¢D

Question Number : 95 Question Id : 630680412832 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B> SEYO (DTG0, BOMPED 23°2)° °0(5ed (Ded Sq. Km 30
Options :

1. ¥ 312

2. % 324

3. % 336

4, % 348

Question Number : 95 Question Id : 630680412832 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Census 2011, the density of population of Telangana is per Sq. Km.
Options :

1. ¥ 312

about:blank 63/109
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2. % 324
3. ¥ 336
4. % 348

Question Number : 96 Question Id : 630680412833 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 82> S5 (95°80, 2001 O 2011 SSEL SBOOTETS” IS0 2T°2r DS BEw .
Options :

1. ® 11.36

2.9 13.58

3. % 15.80

4. % 17.70

Question Number : 96 Question Id : 630680412833 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Census 2011, overall population growth rate during 2001 to 2011 is about . in Telangana
Options :

1. % 11.36

2.9 13.58

3. % 15.80

4. % 17.70

Question Number : 97 Question Id : 630680412834 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20D 23S TN’ 58 JHEN OHAAS oo S0’ (2020-21) GO&.
Options :

1. % 48

2. % 8

3. ¥ 6

4. % 105

about:blank 64/109
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Question Number : 97 Question Id : 630680412834 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana stands at place (2020-21) in average yield of rice at all India level.
Options :

1. * 4th

2. % 8th

3. % 6th

4. % 10th

Question Number : 98 Question Id : 630680412835 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R0ELE), D0 BHVAS BOT @D 2SS oS FI0S God.
Options :

1. ¥ 1

2. % 38

3. %58

4. % 78

Question Number : 98 Question Id : 630680412835 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana stands at place at all India level in the yield of Maize crop.
Options :

1. ¢ 1st

2. % 3rd

3. % 5th

4. % Tth

Question Number : 99 Question Id : 630680412836 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 65/109
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Correct Marks : 1 Wrong Marks :
2022-23 H0S5HB0E, T 5 AP eNsd B0 (GSVA)E I8[Fshed> B0K0 HFsE0 F°e50.
Options :
1. ® 8.96
2. % 13.96
3.9 18.96
4. % 2396

Question Number : 99 Question Id : 630680412836 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the year 2022-23, the industries sector’s contribution to the state’s Gross Value Added (GSVA) was percent.
Options :

1. % 8.96

2. % 13.96

3. ¥ 18.96

4. % 2396

Question Number : 100 Question Id : 630680412837 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5O B0 B Sared FEI95250 H020EH0D DA DB IE?
L O QOS'S 9685085 PSS BSPO 5590 EOAS 28 BorrB&.

1. B35 T R0STS BOGS SEDS S0 5550 SONS e

Options :

IS NN

2. % 1 S°(edad

3. % 1008050 I Bochw

4. % 1520 S 11 5°Q 5°¢0

Question Number : 100 Question Id : 630680412837 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 66/109



10/19/23, 11:57 AM about:blank

Which of the following statements is/are correct regarding the Road Transportation network in Telangana?
I. Rangareddy is the district with the longest road network in the state.
II. Medak is the district with the second longest road network in the state.

Options :

1. ¥ Only I

2. % Only Il

3. % BothIandII
4. # Neither I nor II

Question Number : 101 Question Id : 630680412838 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The birthday of is celebrated as Telangana Language Day.
Options :

1. # Panuganti Telanganarya

2. % Dasarathi Rangacharya

3. ¥ Kaloji Narayana Rao

4. % Suravaram Pratap Reddy

Question Number : 101 Question Id : 630680412838 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DB Berdd B0 235 O )50 2330 300EFED.
Options :

1. % P03 SOOI TS

2. % o388 Somreyrdy

3. ¢ 52878 50"ONEITY)

4. % 08330 (D DG

Question Number : 102 Question Id : 630680412839 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pochampalli in Nalgonda district is famous for
Options :

about:blank 67/109
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1. # bronze castings
2. % dress materials
3. ¥ Dokra metal crafts
4. % Bidri craft

Question Number : 102 Question Id : 630680412839 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0 BPS' D F0ND DA,
Options :

1. % 0<% 5°Q0hR)

2. ¢ B De38aHS)

3. % &5 DS (5°9)

4. % DO 1559

Question Number : 103 Question Id : 630680412840 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S & Sehs Brard 'TITCNO S9eh50' Q) ST DLV S?
Options :

1. % Fr2rdaire)o

AR OWET NN

3. % D0 293¢0

4. ¥ "DBE3 BXBOLN0

Question Number : 103 Question Id : 630680412840 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following dance forms is also known as ‘dance of warriors’?
Options :

1. ¥ Mohiniyattam

2. % Yakshagana

3. # Chindu Bhagavatham

about:blank 68/109
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4. % Perini Sivatandavam

Question Number : 104 Question Id : 630680412841 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 30LOS’ B0 T°(5) DY D0SGEY0S DO HEFO0E IER)?
1. 07l 23068008 — 805

I Ol D - TOJE

Options :

1. % 1 S°(edad

2. % 1 S°(ed o

3. ¢ 1 0005 I BOCh

4. % 1520 S 11 5°Q 5°¢D

Question Number : 104 Question Id : 630680412841 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are correctly matched in the context of the State symbols of Telangana?
I. State Animal - Jinka
II. State Bird - Palapitta

Options :

1. % Only I

2. % Only II

3. ¥ Both I and I
4. * Neither I nor II

Question Number : 105 Question Id : 630680412842 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8o&H a"s"g@és &)ége‘i D) @0k LS°oJe>§) D0DOEOD) DA(R) SBIE(N)?

LGS 579 B(232r0 508 588025 X AT S5 HDOD0S.

1L Q526 @00S DON0E30M.) T°SFOHEI0 SO STFEH0 H0¢3 RIS HOB BBIIT O DBEBOSETI’ HT°23
B0MNOR E&HTIFAION.

Options :

about:blank 69/109
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1. % 1 S°(edadd
2. ¥ 11 S5
3. % 100805 I Bochw
4. % 1520 S 11 5°Q 5°¢0

Question Number : 105 Question Id : 630680412842 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Nirmal arts and crafts?
I. Nirmal craft originated during the reign of Ibrahim Quli Qutub Shah.
II. Nirmal oil paintings use natural dyes for depicting themes from the epics such as Ramayana and Mahabharata.

Options :

1. % Only I

2.9 Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 106 Question Id : 630680412843 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3¢5° F'eS 008 §¢r%0 H020E0D HBIERD) VE(D)?

L 28 3708 SHTPQE HBID 230 &od.

IL 2O SV N8 SB0) 00& e 9 km SrS0S’ &06.
Options :

IR NN

2. % 1 S5

3. ¢ 10805 I O

4. % 1520 S 11 5°Q 5°¢0

Question Number : 106 Question Id : 630680412843 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding Golconda Fort?
I. Tt is located in the western part of Hyderabad city.

about:blank 70/109
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II. It is about 9 km from the Hussain Sagar Lake.
Options :
1. % Only I
2. % Only II
3. ¥ Both I and I
4. # Neither I nor I

Question Number : 107 Question Id : 630680412844 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 IO BOOMTED VE RO NANS (T e sJ°IS 0BG VS I-DTDBAS DV (TS-PASS) IEFIE 5025050 DE(D)
QB IA(R)?

L qT_S_inisg B0 S$STHEIEN OAODS D L0D-9DESD SSom e DA HOWAE' 2,8 FON0EE S5ITHEOZ @)
SO ©OA0TIB0 0 BFFOBORNDROH.

I SN0 8E TS-iPASS 80 8aHBS) S°80) 080TS0 .

Options :

R NI

2. % 1 S7(ehodd

3. ¥ 1 0805 11 Bo&ky

4. % 1520 S 11 5°Q 5°¢D

Question Number : 107 Question Id : 630680412844 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in regarding the Telangana State Industrial Project Approval and Self-Certification System (TS-iPASS)
Act?

I. The TS-1PASS Act was enacted for providing all approvals to the entrepreneurs at a single point within set time limits based on a self-certification
furnished by the entrepreneurs.

II. All applicants will be bestowed with a right to clearance under the TS-iPASS.

Options :

1. ¥ Only I

2. % Only II

3.9 BothIand II
4. # Neither I nor II

about:blank 71/109
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Question Number : 108 Question Id : 630680412845 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1950 239038 2608 3PN T°PE T ol 8 T0EIE3 30§00 oI QOB §ED?
Options :

1. % o J08&E Sorrds

2. ¢ MK 398

3. % 0N (050 DO

4. % 2038 T°NE LT

Question Number : 108 Question Id : 630680412845 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was appointed as the first chief minister of Hyderabad State on 26 January 1950?
Options :

1. # Konda Venkat Ranga Reddy

2. ¥ M. K. Vellodi

3. # Tanguturi Prakasam Pantulu

4. % Burgula Ramakrishna Rao

Question Number : 109 Question Id : 630680412846 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMPE) QPTOES ) [HOES TBNE), SESBAD ARTAES S EIB0H.
Options :

1. % 1982

2. % 1988

3.9 1992

4. % 1998

Question Number : 109 Question Id : 630680412846 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 72/109
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Correct Marks : 1 Wrong Marks :

The Kakatiya Unit of Telangana Students Front was formed in

Options :

1. % 1982

2. % 1988

3.9 1992

4. % 1998

Question Number : 110 Question Id : 630680412847 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

808 ¢3S’ BOOMED €500 DTS (&5 C39ars DBIA(D) AA()?

L. 1968 238355865, DTsren B8N TG 2PS HBJB 90T SONEAE Sl AT )¢ AFBoES RTINS 2.8
QT BB, NS00,

IL &3 [Poerd8 TOAS T°38a% P00E S0 HE CrAONS PO Hohya) TOLHOL.

Options :

1. ¥ 1 S5

2. % 1 S57(ehodd

3. % 10805 11 Bocsye
4. % 152 S I 5°Q S0

Question Number : 110 Question Id : 630680412847 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the role of students in the Telangana Movement?
I. In January 1968, the Osmania University Student Union held a meeting to assess the situation in the districts where students were protesting.
II. The union was completely satisfied with the political leadership from the region.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. ® Neither I nor II

about:blank 73/109
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Question Number : 111 Question Id : 630680412850 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank

Five persons A, B, C, D and E are sitting around a circular table facing towards the centre (not necessarily in the same order). Only

one person is sitting between C and D. B is sitting second to the left of D. A is sitting to the immediate right of B.

Match the person in column I with the person sitting to his immediate right from column II.

Column I | Column IT
L B L. C
II. cC | 2. E
m. | D | 3. A
Options :

| w I-1L1I-211-3

o ow I-1.II-31II-

g

3 % I-2, 11— 1, II-3

4 % I-3.11-2II-1

Question Number : 111 Question Id : 630680412850 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank

74/109



10/19/23, 11:57 AM

A, B, C. D 0803n E &9 Deorbod HfEHen 28 yTFsee @) ciéir Somrds e (698 Sa0e5” e9:9°000 D) SE0ND
&) 0. C 0803w D anesy 208 958 rgdo S8\ &7 1. DS s Jotsd gv::.oe&* B ST (0. A, BS @&

DEDRDD STENT) €.

SO [0 33D o 11 6" DED) DO 500D BEFHo HAEDDD STHNDY H53F 2800 ol

ohd 1 St II

I. B L. C

II. C 2. E

I11. D 3. A
Options :

| o I-L1I-2,11-3

5 % I-1,11-3 M-

p

3 % [-2,1I-11III-3

4 % I-3,1I-21II-1

Question Number : 112 Question Id : 630680412851 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ram ranks 10® from top and 5% from bottom in a class of students. How many students are there in total in the class?

Options :
1 % 13

) ® 16

3« 14

about:blank

about:blank

75/109
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4. % 15

Question Number : 112 Question Id : 630680412851 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dergcbe SOMAS” T P ot 105 T7joS @00IN B A0d 5 T°joS TFotrd. B6rAS” 2o Jod &0 DTFoen
&) @?

Options :

1% 13

) % 16
3.¢ 14

4 % 15

Question Number : 113 Question Id : 630680412852 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Seven boxes B1, B2, B3. B4, B5, B6 and B7 are placed one above the other. Only two boxes are placed above box B4. Only one box
is placed between box B7 and B4. B7 is placed above B4. Two boxes are placed between box B7 and B5 and two boxes are between
box B5 and B1. Three boxes are placed between box B2 and B3. B2 is placed above B3.
Which of the following is the correct order of boxed from top to bottom?
Options :
| % B7.B2,B4,B5,B6. Bl B2

, «» B7.B2, B4, B5, B6, B2, Bl

about:blank 76/109



10/19/23, 11:57 AM about:blank
3 % B7.B2, B5. B4, B6. B2, Bl

4 % Bl.B2, B4, B5, B6, B2, B7

Question Number : 113 Question Id : 630680412852 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e D@ Bl, B2, B3, B4, BS, B6 s060i» BT 2,800 2.6 eocdiarmo. B4 @35y 00 Tocd fen argan Godazon. a8y

B7 200ciw B4 &‘DG’JZS WS gl a0 eodiecod. B7, B4 20 codadob. EJ“§:I B7 aoboiwn BS EfJ.JGfI'?S OO0 D &otzdT"0

200010 375y BS a000in Bl &0y ot DEen &%) 0. 275y B2 sndoin B3 a0l «00med e oo, B3 20 B2
E032C08.

So& TS5’ P ol 063 DGO AT DT oo IA?

Options :
| % B7. B2, B4, B5. B6. Bl, B2

, » B7.B2, B4, B5, B6, B2, Bl
; » B7.B2, BS5,B4,B6, B2, Bl

4 % Bl.B2, B4, B5, B6, B2, B7

Question Number : 114 Question Id : 630680412853 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 77/109



10/19/23, 11:57 AM about:blank

In the following question below are given some statements followed by some conclusions based on those statements. Taking the
given statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given conclusion logically follows the given statements.

Statements:

I. Some T are V.

II. All T are K.

Conclusion:

I Al K are V.

II. All Vare K.

Options :
| % Only conclusion I follows
» % Only conclusion II follows

3 % Both conclusions I and II follows

4+ Neither conclusion follows

Question Number : 114 Question Id : 630680412853 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 78/109



10/19/23, 11:57 AM about:blank
S0 D3 e5° 80y Dseden, oo eprdonr 2y éoﬂéaww "L 00. QLINR PSEIIRD FGeaoT BDD TP D ot
€9 € IDODINDE TOD Do 9 DOBoSOE. D) HU7 TV BEDE ADOT PN SIS’ BID W) SorT
PDDED B07, TP IRVDDI G DPONoSod.

DSeSeD:
L8N Tew V.

II. eay T e K.

@Dﬂéggz

L Eﬂ.i'}cl Ken V.

1I. e::lf];l Veo K.

Options :

| x B07) 50 | &SGR 00000

L, B0 1 g0 9000006

2.

3 % | c0dosw 1l Toc %D"é@w £9: 020700
D GU7LD0 ST IRDDBOSE)

4.

Question Number : 115 Question Id : 630680412854 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 79/109



10/19/23, 11:57 AM about:blank
In the following question below are given some statements followed by some conclusions based on those statements. Taking the
given statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given conclusion logically follows the given statements.
Statements:
I. All red are bread.
II. Some blue are bread.
Conclusion:
I. Some blue are not red.
II. All bread are red.

III. Some bread are red.
Options :
| Ounly conclusion III follows

» % Both conclusions I and II follows
3. % Neither conclusion follows

4 % All conclusion follows

Question Number : 115 Question Id : 630680412854 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 80/109



10/19/23, 11:57 AM about:blank
S0 D3 e5° 80y Dseden, oo eprdonr 2y éoﬂéaww "L 00. QLINR PSEIIRD FGeaoT BDD TP D ot
€9 € IDODINDE TOD Do 9 DOBoSOE. D) HU7 TV BEDE ADOT PN SIS’ BID W) SorT
PDDED B07, TP IRVDDI G DPONoSod.

DSeDeD:
L o2y o0& e B&

IL. 82y 2 en B&
@Dﬂéggz

L %“.i'}el 20° e 86 57D
II. ey B&ew BE.

III. 2 2B&ew O,
Options :
" 07,50 11l G0 90000

) 5 19000 11Boc H07, T IADDBTOD

2 % D @D‘éﬁ_ﬁo ST 9000

L O B0°) e e9DBI00)

Question Number : 116 Question Id : 630680412855 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 81/109



10/19/23, 11:57 AM about:blank
In the question given below, relationships between different elements are shown in the statements. These statements are followed by
two conclusions. Give answer:
Statements:
INzR<=H.U>=T=N
Conclusions:
LU=R

nIT=H
Options :
| If only conclusion I is true

, % Ifonly conclusion I is true

3 #% If neither conclusion I nor conclusion IT is true

4. % If both conclusions I and II are true

Question Number : 116 Question Id : 630680412855 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BDD QDED D7) &7, DDG 90T°0 G DOOTFED DELDVE” SIDVLETOD. S RSOV Tocd @U"éﬂ“w £9:0080Er00).
LDATFTED0 @&350(1:

2SI

INz2R<H, U>T=N
Bom)TeRD:

LU=R

I.T=H
Options :

about:blank 82/109
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v G000 | ATGDO D80

- Bo7)D0 11 gy Hego

s x @w&éo | =5 @D“&éo 1520 350 57

] 20b0o30 1l Do %D‘é@w 2e8g0
4. %

Question Number : 117 Question Id : 630680412856 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Age of 5 students is compared. The ages of all the students is different. The age of S1 is more than only one student. The age of S3 is the maximum. The
age of S2 is less than one student. The age of S4 is not the least. Whose age is the least?

Options :
1. ¥ S5
2.% 82
3. % S3
4. % S|

Question Number : 117 Question Id : 630680412856 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 08 DsEIE HANNY e YDR0E. DTTEEE08 HONNY DY OM E0EN0R. ST SN 30 2.8y Vs 0T VL. S3
SOKN)) 0SB e9¢5BE0. S2 HANMY 208 D50 E0Td 5505, $4 SN 0 0B 55078 5°¢. 0S8 DB SAHNY
550,857

Options :

1.¥ S5

2. % S

3. % §3

4. % S1

about:blank 83/109
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Question Number : 118 Question Id : 630680412857 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

CM.FI.IG,LD. ?
Options :
1.v OA
» # OB
3 # MA
4 % NC

Question Number : 118 Question Id : 630680412857 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
208 D0 @ﬁ:ﬁﬁoﬂa 363 @O Cod. 3B UPY B3 VFD PEFFAT) 03Dy JdocoE ol

CM. FI.IG. LD, ?
Options :
1.v OA
» # OB

3 % MA

4 % NC

about:blank 84/109



10/19/23, 11:57 AM about:blank

Question Number : 119 Question Id : 630680412858 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A serles is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TQMC, HRVY, DAWM, RBFI, ?
Options :

| % QRIQ
, % NQRT
3 ® NKGM
4 v NKGW

Question Number : 119 Question Id : 630680412858 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
208 D50 @ﬁ:ﬁﬁoﬂa 363 @O0, B Y 3R VT PEFAT) 03Ty DotEod.

TOMC, HRVY, DAWM., RBFI. ?
Options :

| % QRTQ
5 % NQRT
3 ® NKGM

4 v NKGW

Question Number : 120 Question Id : 630680412859 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 85/109



10/19/23, 11:57 AM about:blank

Correct Marks : 1 Wrong Marks :
The string given below is made up of digit.

How many even digits are followed by an odd digit when counting from left to right?
27471388517798867824

Options :
1 % 1

I

Question Number : 120 Question Id : 630680412859 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
KD AN AL DBODS (|NON) OB BreroONRR0R.

D350 0 BoB38 B8 0DINCE D) OB @0TE BT°LH FOEIR 230 DODS SNOE?
27471388517798867824

Options :
1% 1

I

Question Number : 121 Question Id : 630680412860 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
about:blank 86/109
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The string given below is made up of digit.
How many odd digits are followed immediately by an even digit?

6 1 1 & 3 1 5 4 3 66 5 2 1 4 9 & 7
Options :

I
O
LY ]

1% 5

2.¢ 7

Question Number : 121 Question Id : 630680412860 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B DD DBDA (Pof) 030 drFodostod.

D) B 05 BTG Dotdd VO 05 HoH?
6 I 1 8 3 1 5 4 3 6 5 2 1 4 9 6

-]
3
o
T

Options :

1.% 5

2. 7

Question Number : 122 Question Id : 630680412861 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 87/109



10/19/23, 11:57 AM about:blank
Correct Marks : 1 Wrong Marks :
In a certain code language, ‘DUST’ is written as ‘ZPOO’. What is the code for *EDIT" in that code language?
Options :
1. % AZEO

, % AYEP
3 % AYFO

4« AYEO

Question Number : 122 Question Id : 630680412861 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DB EE xS’ ' DUST' 598 'ZPOO' 099 Troberod. &5 EE ered” ‘EDIT © §& ded?

Options :
1 % AZEO

, % AYEP
3 # AYFO

4 v AYEO

Question Number : 123 Question Id : 630680412862 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If East is called WNorth, West is called South and South-East is called North-East. then what will North be called as?
Options :

about:blank 88/109
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1. % East
2 o West
3 % North-West

4 % South-West

Question Number : 123 Question Id : 630680412862 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AP &S00 0D, DINATDY A0 9D, &) CITD) S0 D WOEFM, VYD GSTD) JaD DOFH?
Options :

T SR

) d%‘(}ﬁ)@

3 % E“D:SJJQZSD

4 % DOD

Question Number : 124 Question Id : 630680412863 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

GT:IV::?
Options :
1% LL: UV

about:blank 89/109



10/19/23, 11:57 AM about:blank
» % SU:UU

3 % ZZ:SU

4 v FS:HU

Question Number : 124 Question Id : 630680412863 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 D3) &, DD DEFET) O30 ol Do0HS ETO 2B JoEol.
GT:IV::?

Options :

1% LL:UV

» ® SU:UU
3 # ZZ:5U
4.« F5:HU

Question Number : 125 Question Id : 630680412864 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question. select the related letter pair from the given alternatives.
MT: YR ::?

Options :

1 ® TP:ZL

, % QS:LR

about:blank 90/109



10/19/23, 11:57 AM about:blank
3 v OX:CT

, % QP:TV

Question Number : 125 Question Id : 630680412864 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 D) &5, AN DEPFAT) 0IP0 A0E Do0AS BETPO 2B JocE ol

MT:YR ::?
Options :

1. % TP: ZL
) Q5: LR
3 OX:CT
4 % QP: TV

Question Number : 126 Question Id : 630680412865 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1.« ACFK

) # TVYC

3 % JLOS

about:blank 91/109
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4 % INPSW

Question Number : 126 Question Id : 630680412865 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
30d ©03) ", AN DEFFAT) 030 Aod: DY o7 &) BEC/ET O JoE o,

Options :
1.« ACTFK

) # TVYC
3 % JLOS
4 % NPSW

Question Number : 127 Question Id : 630680412866 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % SDPC

» % ITFS
5 % CNZM

4« EPCP

Question Number : 127 Question Id : 630680412866 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 92/109



10/19/23, 11:57 AM about:blank
Correct Marks : 1 Wrong Marks :

30d ©03) ", AN DEFFAT) 030 Aod: DY o7 &) BEC/ET O JoE o,

Options :
1. ® SDPC

» % ITFS
3 % CNZM

4« EPCP

Question Number : 128 Question Id : 630680412867 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.
14, 35, 57, 80, 104, ?
Options :
1% 128

5 % 126
3 @ 129

4 % 130

Question Number : 128 Question Id : 630680412867 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
30d D\ &, QLN BB ol @i}gﬁﬁoﬂa SEVERY Dot ol
14, 35, 57, 80, 104, ?

about:blank 93/109



10/19/23, 11:57 AM

Options :
1. % 128

) % 126
3 129

4 % 130

Question Number : 129 Question Id : 630680412868 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank

In the following question, select the missing number from the given series.

285,282,291, 264,?

Options :
1. #% 350

5 & 345

Question Number : 129 Question Id : 630680412868 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 2\ &5, QN BB Aol @i}gﬁﬁmja 202570 DocFod.

285,282,291, 264,?

Options :

about:blank

94/109
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| % 350

5 & 345

Question Number : 130 Question Id : 630680412869 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IfI2P4Q6=8and6P8Q2=24then9P4Q6="7
Options :

1% 10

Question Number : 130 Question Id : 630680412869 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
lZP4Q6=8EﬁJ50ﬂB6PSQ2=24Eﬂ@J&S: 0P4Q6="?
Options :

1. % 10

about:blank 95/109
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3.4/ 0

4.% 9

Question Number : 131 Question Id : 630680413677 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Scanner is device used to capture a digital image from an analogue media.

Options :
1. #* an
2. % the
3.¥a

4. # No article

Question Number : 131 Question Id : 630680413677 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

Scanner is device used to capture a digital image from an analogue media.
Options :

1. % an

2. % the

3.¥a

4. # No article

Question Number : 132 Question Id : 630680413678 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
My brother is fastest bowler among them all.

Options :

1. % a

about:blank 96/109
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2. % the
3. % an

4. % No article

Question Number : 132 Question Id : 630680413678 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
My brother is fastest bowler among them all.

Options :
1. % a
2. % the
3. % an

4. % No article

Question Number : 133 Question Id : 630680413679 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
you please pass me that pencil?

Options :
1. ¥ Can
2. % Shall
3. # Might
4. * Should

Question Number : 133 Question Id : 630680413679 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
you please pass me that pencil?

Options :
1. ¥ Can
2. # Shall

about:blank 97/109
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3. % Might
4. ¥ Should

Question Number : 134 Question Id : 630680413680 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Steve was supported in his mission John Sculley.

Options :

1. ® from
2. %# through
3. % of

4. ¥ by

Question Number : 134 Question Id : 630680413680 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Steve was supported in his mission John Sculley.

Options :

1. # from
2. % through
3. % of

4. % by

Question Number : 135 Question Id : 630680413681 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
While it was a hushed-up discussion in the entertainment industry, Johar has finally voice it.

Options :
1. % While it was a hushed-up
2. # discussion in the entertainment

3. #* industry Johar has

about:blank 98/109
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4. ¥ finally voice it.

Question Number : 135 Question Id : 630680413681 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
While it was a hushed-up discussion in the entertainment industry, Johar has finally voice it.

Options :

1. ¥ While it was a hushed-up

2. # discussion in the entertainment
3. # industry Johar has

4. ¥ finally voice it.

Question Number : 136 Question Id : 630680413682 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
The only witnesses to these conversations was the reverse-bladed vintage pedestal fans which whirled as silent spectators.

Options :

1. % The only witnesses to these

2. ¥ conversations was the reverse-bladed
3. % vintage pedestal fans which

4. ® whirled as silent spectators.

Question Number : 136 Question Id : 630680413682 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.
The only witnesses to these conversations was the reverse-bladed vintage pedestal fans which whirled as silent spectators.

Options :

1. # The only witnesses to these

2. ¥ conversations was the reverse-bladed
3. # vintage pedestal fans which

4. % whirled as silent spectators.

about:blank 99/109
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Question Number : 137 Question Id : 630680413683 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
A decision on revising the/price of natural gas/have been deferred yet again.

Options :

1. % A decision on revising the

2. % price of natural gas

3. ¢ have been deferred yet again
4. % No error

Question Number : 137 Question Id : 630680413683 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
A decision on revising the/price of natural gas/have been deferred yet again.

Options :

1. # A decision on revising the

2. % price of natural gas

3. ¥ have been deferred yet again

4. % No error

Question Number : 138 Question Id : 630680413684 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
This lesson is an introduction to/the study of organised and planned/efforts at road development in India.

Options :

1. % This lesson is an introduction to

2. % the study of organised and planned
3. ® efforts at road development in India
4. ¥ No error

about:blank 100/109
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Question Number : 138 Question Id : 630680413684 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
This lesson is an introduction to/the study of organised and planned/efforts at road development in India.

Options :

1. % This lesson is an introduction to

2. % the study of organised and planned
3. ® efforts at road development in India
4. % No error

Question Number : 139 Question Id : 630680413685 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She is staying with her father, ?

Options :

1. # do she

2. ® didn’t her
3. % isn’t she
4. * are she

Question Number : 139 Question Id : 630680413685 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She is staying with her father, ?

Options :

1. # do she

2. # didn’t her
3. % isn’t she

4. % are she

about:blank 101/109



10/19/23, 11:57 AM about:blank

Question Number : 140 Question Id : 630680413686 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
You do not like to eat fast food, ?

Options :

1. # did he

2. % don’t you
3. # does you
4.+ do you

Question Number : 140 Question Id : 630680413686 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
You do not like to eat fast food, ?

Options :

1. # did he

2. % don’t you
3. % does you
4. ¥ do you

Question Number : 141 Question Id : 630680413687 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
A mechanic will fix the workstation next year.

Options :

1. % The workstation will been fixed next year.

2. ¥ The workstation will be fixed by a mechanic next year.
3. # The workstation will be fix by a mechanic next year.

4. # The workstation will be fixed the following year.

about:blank 102/109
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Question Number : 141 Question Id : 630680413687 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
A mechanic will fix the workstation next year.

Options :

1. # The workstation will been fixed next year.

2. ¥ The workstation will be fixed by a mechanic next year.
3. # The workstation will be fix by a mechanic next year.
4. # The workstation will be fixed the following year.

Question Number : 142 Question Id : 630680413688 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
She made some mistakes.

Options :

1. ¥ Some mistakes were made by her.

2. # Some mistakes are made by her.

3. # Some mistakes have been made by her.

4. # Some mistakes are being made by her.

Question Number : 142 Question Id : 630680413688 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
She made some mistakes.

Options :

1. ¥ Some mistakes were made by her.

2. % Some mistakes are made by her.

3. # Some mistakes have been made by her.

4. # Some mistakes are being made by her.

about:blank 103/109



10/19/23, 11:57 AM about:blank

Question Number : 143 Question Id : 630680413689 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To fish in troubled waters

Options :

1. ¥ To take advantage of troubled times for personal gain
2. % To get caught in trouble

3. # To create problems

4. #® A person who ceases to be a friend when one is in trouble

Question Number : 143 Question Id : 630680413689 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To fish in troubled waters

Options :

1. ¥ To take advantage of troubled times for personal gain
2. # To get caught in trouble

3. % To create problems

4. % A person who ceases to be a friend when one is in trouble

Question Number : 144 Question Id : 630680413690 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To kill the goose that lay golden eggs

Options :

1. ¥ To destroy through greed something that world have given continuous profit in the future
2. ® A man who acts foolishly

3. % To offer a person, a thing which he can’t appreciate

4. # To accept a challenge

about:blank 104/109



10/19/23, 11:57 AM about:blank

Question Number : 144 Question Id : 630680413690 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To kill the goose that lay golden eggs

Options :

1. % To destroy through greed something that world have given continuous profit in the future
2. % A man who acts foolishly

3. % To offer a person, a thing which he can’t appreciate

4. # To accept a challenge

Question Number : 145 Question Id : 630680413691 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the word that means the same as the given word.
Valueless

Options :

1. # Pressured
2. * Florid

3. % Worthy
4. % Flawed

Question Number : 145 Question Id : 630680413691 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the word that means the same as the given word.
Valueless

Options :

1. # Pressured
2. % Florid

3. % Worthy
4.+ Flawed

about:blank 105/109



10/19/23, 11:57 AM about:blank

Question Number : 146 Question Id : 630680413692 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the word that is opposite in meaning to the given word.
Vindicate

Options :

1. % Acquit

2. % Exculpate
3. ¥ Convict
4. ¥ Stray

Question Number : 146 Question Id : 630680413692 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the word that is opposite in meaning to the given word.
Vindicate

Options :

1. # Acquit

2. # Exculpate
3. ¢ Convict
4. % Stray

Question Number : 147 Question Id : 630680413693 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.
Establish a company and set small sales tagrets.

Options :
1. % Establish
2. # company
3. % small

4. ¥ tagrets

about:blank 106/109
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Question Number : 147 Question Id : 630680413693 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.
Establish a company and set small sales tagrets.

Options :
1. % Establish
2. % company
3. % small

4. ¥ tagrets

Question Number : 148 Question Id : 630680413694 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.
In the process, he has produced some of his most challenging, complex and intrigiung films to date.

Options :

1. % intrigiung
2. ® process

3. # challenging

4. % complex

Question Number : 148 Question Id : 630680413694 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.
In the process, he has produced some of his most challenging, complex and intrigiung films to date.

Options :

1. ¢ intrigiung
2. % process

3. # challenging
4. # complex

about:blank 107/109
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Question Number : 149 Question Id : 630680413695 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She the room temperature without asking me.

Options :
1. #* rash
2. % rays
3. ¥ raised

4. % razed

Question Number : 149 Question Id : 630680413695 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She the room temperature without asking me.

Options :
1. # rash
2. ® rays
3. ¥ raised
4. ® razed

Question Number : 150 Question Id : 630680413696 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Add enough milk and curd to make a soft, sticky

Options :
1. % door
2. % doe
3. % do

4. ¥ dough

about:blank 108/109
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Question Number : 150 Question Id : 630680413696 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
Add enough milk and curd to make a soft, sticky

Options :
1. # door
2. # doe
3. % do

4. % dough

about:blank 109/109



